
[image: sin(3 x)+sin(5 x) = sin(4 x)]
[image: x = 2 pi n,   n element Z]
[image: x = 2 (pi n-(3 pi)\/8),   n element Z]
[image: x = 2 (pi n-pi\/8),   n element Z]
[image: x = 2 (pi n+pi\/8),   n element Z]
[image: x = 2 (pi n+(3 pi)\/8),   n element Z]

[image: http://www4c.wolframalpha.com/Calculate/MSP/MSP34471hg7ddc54iehag820000139535f1530a7hab?MSPStoreType=image/gif&s=61&w=413.&h=188.&cdf=Coordinates&cdf=Tooltips]



[image: sin^5(x)-sin^3(x)+5 sin(x) cos^4(x)-10 sin^3(x) cos^2(x)+3 sin(x) cos^2(x) = 4 sin(x) cos^3(x)-4 sin^3(x) cos(x)]




[image: 3 sin(2 x)+5 sin(4 x) = 8]

[image: http://www4f.wolframalpha.com/Calculate/MSP/MSP42741c9aaffc5d7g6h4d00004ib27a832g6h7ed1?MSPStoreType=image/gif&s=8&w=439.&h=190.&cdf=Coordinates&cdf=Tooltips]
Нет ни одного решения.
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sin®(x) - sin® (x) + 5 sin(x) cos*(x) — 10 sin”(x) cos?(x) + 3 sin(x) cos®(x) =

4 sin(x) cos®(x) — 4 sin®(x) cos(x)
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sin(3 x) + sin(5 x)
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